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Part – A 



Marks: - 15 

Q.1: -  
  (a)
Choose the correct answer. 
i. In the proper fraction the degree of the numerator than the degree of the denominator will be ___________  
    a) partial 
  b) smaller
 c) greater
d) equal 
ii. The additive inverse of a-bi is ___________________  
a) a+bi  

b) –a+bi 
     c) –a-bi 
 
d)  
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  iii.   In octal number system the base is equal to ____________ 
     a) 2 
  
b) 10 
  
c) 16
    
d)  8
  iv.   If the inclination of a line is 45° then slope is ______________ 
a) -1  

b) 1

c) Zero 
d) undefine
 v.     If Radius = 0 then circle becomes ______________. 
 

   a) real circle  
b) imaginary circle 
c) point circle  d) zero circle 
 
(b) Fill in the blanks. 

i.  If z is a complex number then z means _______________. 
ii. The position value of a digit is known as its _______________. 
iii. Logical addition is also called _________________ operator. 
iv. The equation ax+by+c=0 represents __________________. 
v. Two circles have same centre called _________________. 
 
( c ) 
Choose the correct Answer of each statement in Column No-I from Column 
No 2 & place its identifying letter a,b,c, or d in the space provided on the right hand side of each statement.  
	
	Column – I 
	
	Column – 2 

	i)
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 is called _______________
	a)
	Origin 

	ii)
	In binary addition 1+1 is equal to _________________. 
	b)
	(10)2

	iii)
	 Double complementation give ______________
	c)
	Rectangular form

	iv)
	Centre of circle x2+y2 = 4 lies at ______________
	d)
	Undefined 

	v)
	For vertical line the slope is ____________
	e)
	Polar form 

	
	
	f)
	Original value 

	
	
	g)
	0°

	
	
	h) 
	(11)2
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 Part – B
Note: - 

Attempt any Six questions in all by selecting two questions from each section. All 
questions carry equal marks. 
Section – I 

Q.No.2: - 
Resolve 
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into partial fraction. 
Q. No.3: - 
Resolve 
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 into partial fraction.  
Q.No.4: - 
Express x2 +y2 = a2 in terms of conjugate co-ordinates.  
Q.No.5: - 
Express 
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 in the form of a+bi
Section – II

Q.No.6: - a)
Add (110011)2 to (101101)2 . 

     b) 
Subtract (01011)2 from (10110)2
 Q. No.7: - 
Prepare Truth Table for expression 
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Q.No.8: -  
Prove Demorgan’s Rule by Truth Table. . 
Q.No.9: - 
Simplify the expression  




[image: image7.wmf]C

B

A

C

B

A

C

B

A

C

B

A

C

B

A

.

.

.

.

.

.

.

.

.

.

+

+

+

+


Section – III 
Q.No.10:- 
Find the point whose abscissa equals its ordinate and which is equidistant from 
(0, 2) and (-1, 4) 
Q.No.11: - 
Find the point which is  
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of the way from the point (4, 5) to the point (-6, 10).      

Q.No.12: - 
Find the slopes of the sides and altitudes of the triangle whose vertices are the 

points (-3, 2), (6, -5) and (1, 7) 
Q.No.13: - 
Find the equation of the circle having (-5, 6) and (1, -2) as the ends of a diameter. 
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